1. meﬂﬂﬁm#mﬁﬁ sawdd | 1 }Uhen I;;turalpmductsarec
e e T & 20 8 o 8 7 T 2 forms (ACOUG WaYS of mapy e 10l
1) TEH (1) Tertiary sector i
(2 SreNfirH & (2) Industrial secty,
- (@) T (3) Primary sector
@) fidiam & (4) Secondary secty
(5) ST & = (5) Mot attempteq
2. mmﬁmﬁaﬁ@@at@#wﬁw 2. ' which district of pyq,
¥ ol Al 0 i Khajuraho Group of Momm}:;t:'fl:gesh, are
) (1) Chhatarpur Aed ?
@) | (2) Jabalpur
o) WL Gwalilorl
s (@ Indore
: g (5 Not attempted
3 3.’L Which of the following is mot part of the
’ 4ER Panchayati Raj system in India ?
(1) Zila Parishad
“.(2) Gram Parishad
" (3) Gram Sabha
5 ol .Gram Panchayat
P> (5) " Not attempted
|4, Where is the National Gallery of Modert
4. h '."l;:"_fl lqcated? ! ! :
. (1) ~ New Delhi ;
5 .(2).  Kolkata
i ) Mumbai
0 (4)" Nagpur
< '.('5.) . " Not attempted
o syt ot e | 8 R
ww%wﬁmww@ﬁw .. 90237
(y A i (1) SriLanka
@ 2)  Nepal
{3) R (3) Pakistan
TR TR SRR A T e et i,
(5) IR NI . ; (5) . Not attempted /—/
HANTV/F2 , " % 5 5 (o1 2l | SPACE FOR ROUGH WORK ol




6. T TE A g ad § SaiiEar dem & fag 'g'ﬁa'{-[ 6. In which year did the United Nations adopt

Wﬁ*mﬁﬁ AT ? the UN Guidelines for Consumer Protection ?
(1) 1985 (1) 1985
(2) 1990 ) (2) 1990
(3) 1986 ' (3) 1986
(4) 1987 (4) 1987
(5) ST A =R

(5) Not attempted
7.  TOR ST GIRCE el 6 § 2

7. Where is Salar Jung Museum located ?
(1) ﬁm (1) Mysore ‘
@ | (2) Goa
(3) (3) Bhopal
) Wﬁ%ﬁﬁ | (4) Hyderabad
(5) W

(5) Notattempted

-

8. wEdEs TR & N fFrEfatan s w =R

8. Consider the following statements about
FET FF T FYR T TR 82 Democratic Governments. Which statement
(1) wrad g e & ®9 8 S is not correct ?
) T:TE'IT%I (1) Democracy i; also known as
tative democracy
5 i 8 . represen
@ 8 ﬁ é‘n’l (2) Democracy guarantees universal adult
; . franchise
(3) e A T b SO s fraifed Tt (3) Indemocracy people have power to elect
I SATHHR B B ' ! their leaders
4) e ] A F T H a.ﬂ'mm%l : ‘[4}' . Democracy is also known as Oligarchy
5) S| kG o ' (5) Not attempted
9. TYEIH'AenUL’ 'qwﬁ'q,-g[ sk I. “ | 9. Why Earth is called the ‘blue planet’?
(1) Eﬂﬁ?wﬁﬁﬁﬁ?'ﬁl ! (1) Because it has life.
(2 wifs Hza"‘ =1 91 vhavE 9 st qﬁ'} @; (2) Because more than 91% of the Earth is
&W@H%I | e covered with water.
3) e T (3) Because it is blue in colour.
; ; (4) Because more than 71% of the Earth is
(/4] m q@ <l 71 'Hﬁﬁ"ﬁ 'é 33[&'13'7 "TF'“ -‘g \ covered_ with water.
Ar=DIed ¥ | _ (5) Not attempted
(5) SR o AR - ing ) :
. _ i 10. In which year did Gandhiji arrive in India fr
10, TSR <for st § wRa | fee o § 9y ey South Africa ? iy
g7 . ; . 1017
()23: 1917 @ 1921
® 1907 | (@ 1907
@4 1915 (@) 1915
(5] s L o e B (5) Not attempted
HANTY 5 TG B 3 10 24T | SPACE FOR ROUGH WORK
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11. )

g %? mfﬂﬁ? sfsT = Fuifia =@ ¥ fae fafew | 11. ’z‘}o decide ][m:j.ia,s POlitical .
TR Y 1927 s e @ N o1, e AP ino‘{gggn:vrlicﬁﬁngland as ture, th
oy . ’ as heagq ntacea,
(1) Lord Hastin Cdby . “Ompy,
£1) g ™ (2) Lord Simcmga |
(2) o€ aEEA (3) General Dyer
(3) & SRR (4) Robert Clive
@) A3 TS (5) Not attempted
(5) SR TR =R
12. Correctly match the f0110wing.
12. aﬁ ﬁﬁ g List -1 L’lﬂt - II
(A) Ryot ) vin
gelfr-1 et - 1 R
" (B) Mahal ()  Peasap
@ e A (C)  Nij () Cultyy
(B) He -(I1) gfasx . s ation gp
© = - 4m T & 8 IR G (D) Ryoti (V) Cultivagg,
(D) it (IV) I ofl RSt e S SR : Planters oy,
S ey R R '{Té\' SR —— chs orrect answer figy, opt
(1) (A)-(11, (B)-(I), (C)-(IV), (D)-(I) (1) (A)-1), (B)-I), (C)-v), (b))
@ (A)-0), B)-0V), (©)-D, O)-(m) @ (A0, B)-(V), (-, Dim
3] (A)-(aV), (B)-(1D), (C)-(I1), (D)-(1) - 3)  (A)-(V), (B)-(I), (C)-(), D)0
1 © BED L (MPE, @ (-, B-0, ©)-), O-m
(5) ~ S < RS | . (5) Not attempted
13. Tohw wRmE # QX A e St ¥ 2 13. Which continent has the highest ns
1 - STEF countries ?
@) <o s g gfri: S
ou erica
£3)  TRE ' (3) Asia - '
4 T | (4) Europe
(5) ST G S AR (5) Not attempted
14. TFu s @ gad dfea 9o T € 2 14. The finest cricket bats are made
1 5T - a8 wood ? -
((2)) S ? = (1) Banyan tree
E (2) Willow tree
3) dE-3« (3) Palm tree
(4) - 94 (4) Pine tree
(5) I = (5) Not atternpted///
HANTV /F2 % 1t 6 To10 F2Iret / SPACE FOR ROUGH WORK




- Em“a”“mm@mm%ﬁwmﬂ
ol g s s #, fR T

15.

Khabar Lahriya, a newspaper run h.y ci‘ght
Dalit Women in Chitrakoot district,
Uttar Pradesh, comes out in which local

TS & ST e 2
(1) i J language ?
(1) Pishoni
2
(3} S?H&ﬁ (2) Awadhi
-'[ ) 3 (3) Bundeli
@ (4) Tulu
(5) W TE AR (5) Notattempted
16. o T S e o =t fia & A2y ¥, | 16. The substances which turn red litmus into
W ¥ : blue are _____ in nature.
(1) S (1) Neutral
2) nelE @ AR (2) Acidic or Basic
@ ot (3) Acidic
@) (4) ' Basic
17. W*me_mm% : 17.' The normal temperature of human body is :
(1) 98.4°C i (1) 98.4°C
) 98°C (2) 98°C
(3) 35°C @3 35°C
@4 37°C '@ 37°C
(5) I T""Ei | .. (5) | Not attempted
18. %ﬁ@ FYHH @ & a:a%‘ﬁaaﬁ ¥ ErE F | 18, zs{h;(c;}; of the following helps in clotting of
? ‘ - Tl
(1) ‘| (1) ' Platelets
12) Hipe T DY (2) ~ White Blood Cells
(3) Tesirenfer ~ (3) Haemoglobin
@) e FHiOTRTT (4) Red Blood Corpuscles
(5) IR T & wed (5) Notattempted
19, w=r W EFIGER‘T A ARF P E? ; 19. z\:)hich i's the 1:no'st common carrier of
(1) SY-9dT mmunicable diseases ?
2) A (1) Dragonfly
o)
(3) mqﬂ:@? [ } Ant
(3) Housefly
(@) wemEd 2
2 (4)  Fruitfly
& == (5) Notattempted :

HANTV / F2
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21.

20. & Wt S s fow 4w A @ wE o § IR
Fed 71
(1) Heeg=
R)  wnfs
3) Toiy
4 fogw
(5) ST el ¥ =R
Freferaa A @ 31UTg &1 =97
(1) @l
(2) wifeTm
@) T
(4) =
(5) ST A =R

22.

23.

T - 13 U Tu 0 e - A R A= &
1y Aferd shifsg |
I

I
(A) TN )  eleR g
B) TESiea- (I1) oSt e
(C) ST (1) o
D) . TR dien (V) ereved die
wé e g :
(1)  (a)-), (B)-(), (O)-(V), (D)-(1)
(2) (A)-(ID), (B)-(11), (C)-(), (D)-(IV)
@) (&)-), (B)-(1), (C)-(D), (D)-(IV)
@) (A)-(1), (B)-(1), (C)-(1), (D)-(IV)
(5) SR & e

w—:ﬁmmﬂﬁaﬁw-ll,ﬁﬁqwnﬁ
%mgﬁﬁﬂaaﬁﬁq
1

11

(A) TEHEE @ g
(B) TURERH A (1) ek
(C) () SfEry
D) e V) e
:ﬁ%ﬁqmﬁmﬂﬁﬁﬂnﬁrmzﬁwﬁm:
q) (-, -, ©-0V), O

B)-(111), (O)-(11), (D)-(IV)

@ S B, (©)-a1), (D)-IV)

3 A)-(11),
@ (C)-(1V), (D)-(II)

20.

21.

22.

23.

Species found :

kr?own as : oY 8.0 A,
(1) Endangered
(2) Endemic

(3) Rare

(4) Extinct

(5) Notattempted

Select the non-metal from y,
(1) Iron &,
(2) Sodium
{3) Sulphur

(4) Copper

(5) Not attempted

Match the items given in g,
those in Column - II. .

I
(A) Chloroplast () Ich'
plan
(B] RhlZO bium (II} Para
(C) Cuscuta (III) Leaj.
(D) Pitcher plant " (IV) Inge
Plant

Choose the correct options belos

(1) (A)-(n), (B)-(I), (C)-(IV), D)
(2)  (A)-(1), (B)-(I11), (C)-(0), (O
(3)  (A)-1), (B)-(), (C)-), BHX
(@) (A)-(m), (B)-), (C)-0, PH
(5) Not attempted

Match the items in Column - T2
Column -1I1:

1 I
(A) Typhoid n Vi
(B) Hepatitis A () Fu
(C) Malaria () B
(D) Wheat rust ) P

Choose the correct answer foe
below :

1) (@)-a, @-m, ©-
2 (A-), B)-a, ©-m, O
@  (A-, @)-, ©-m O
@ (-, B)-, ©-0) O

(5) Not attempted/_‘/

@r (A)-010), (B)-(1),
(5) T 1 =Ted
HANTV / F2 =0 @1l a5 17U ZeITeT / SPACE FOR ROUGH WORK




24, qﬁ@ﬁ"éloomaﬁqﬁsaﬁﬁaﬂm%ﬁ

TR TR e
41 20 fwd ¥
(2) 500 fR.AL. /=
(3) 20 Hey/sA
(4) 20 He/H
(5) SO E I WA
25. ﬁmﬁ%ﬁﬁﬁﬂa—mmmmmwﬁ
1 = _
(2) EHITEH
3) WS
@y TRUEE
(5) S TE & =ed
26. @it et & HR e ¢
1) fefEc -
(2) feaf D
(@ fafEa
W FEfEB
(5) SEE A =R
27. ﬁm@a@mﬁ#ﬁaﬁ#ﬂiwﬁwﬁm
;e ___ T S €
(1) et
o =
(4)
-a;az-—ri’faﬂr%rmﬂ

)

25.

26.

27.

24.

)

- (1) - Vitamin C

If a body covers 100 km in 5 hours its speed
will be :

(1) 20 km/hour

(2) 500 km/hour

(3) 20 meter/hour

(4) 20 centimeter/hour
(5) Not attempted

Which is the best conductor of heat from the

following ?
(1) Silver
(2) Aluminium
(3) Wood
(4) Kerosene
Not attempted

Night blindness is caused due to the

deficiency of :

(2) Vitamin D
(3) Vitamin A

. (4 Vitamin B

(5) Not attempted

' Cockroach breathe through network of air
- tubes called _ :

(1) Diaphragm
(2) Stomata
(3) Gill

(4) Trachea

(5) Not attempted

Which of the following is not a déﬁciency

28. ﬁmﬁmﬁﬁﬁammﬂﬁwmaﬁ%? e 5
/l/ 1) e (1) Goitre
(2) @ (2) Scurvy .
(3) (3) Anaemia
4) W@ (4) Malaria
(5) TN 72l &1 =ed (5) Not attempted

<% @1 & fe1u Zere / SPACE FOR ROUGH WORK
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29,

30.

31.

ﬁﬂﬁf@ﬁﬁﬁﬁmmmwwﬁ@m%?

0

) W=

(3) g

4 ¥

(5) SR & S =R

e - 17 TR T 0 1 e - 1, fw o

% Y g '
I - (9= 3iT) II - ( wferam)

(A) B s Ay WSS

B) e IE ) i =1 facre

© L (I11) S 1 ST

D) ¥ AIV)  He

‘Hﬂ‘ﬁmﬁﬁm:

(1) (A)-(), (B)-(Iv), (C)-(1), (D)-(11)
L1 (A)-am), (B)-(1v), (C)-), (D)-(1)
(3  (A)-(IV), (B)-(I), (C)-(1), (D)-(I)
4 (A)-0V), (B)-(0), (C)-(I), (D)-(1)
(5) W TE AR

A e IR 36 a1 4 Frewd (1) ik (1) R o
T TTT Ferl il T WG T SR S TN T 9
3 fim @ =i 7 wdlia A9 &, Fofa = o 2l w9
Frepd QU 7T ol 3 STUR R ThETd ®9 | Fireherr
¥/ €1 |

T - 59 T B €|
%9 "ofel uaft ¥ |
frepd: () FOFAUERE
() FBUERFAE

(1) e (1) < (i) 2 Fravema €)1
(r < forewd (1) & & (1) P

29.

30.

31.

1

The planet which appears reddish in Coly,
is : '

.(1] Venus | 1

(2) Mars ‘:
@ Barth |
(4) Mercury

(5) Not attempted

Match the items given in Column - I yjg
those in Column - II : ’

I - (Digestive Organ) IT - (Process)
(A) Small Intestine ()  Chewing of fooq
(B) Large Intestine (II) Churning offooq
(C) Stomach (IIT)  Absorption of

food
(D) Mouth (IV) Formation of
faeces

Choose the correct options below :
(1) (A)-(m), (B)-(Iv), (C)-(1), (D)-(I)
(2)  (A)-0m), (B)-v), (O)-(1m), (D)-(1)
(B)  (A)-(1v), (B)-(11D), (C)-(1), (D)-(11) -
(4. (A)-V), (B)-(), (0)-(m), (D)-()
(5) Not attempted

Two statements are given, followed by two
conclusions (I) and (II). Assuming the
staten}ents to be true even if they seem to b
at variance from the commonly known facts
decide which of the conclusions logicallf
follow(s) from the given statements.

Statements: Some dogs are fishes.
Some fishes are birds.

Conclusions : (M Some dogs are birds

(@  Some birds are dog*
Both conclgsions (I) and (I1) follow

(1)

(2)  Neither conclusion (1
\ ) nor (II) follows
(3) e fred (1) e g (3) Only conclusion (1) follows
(4) Had ferd (II) frepea 1 (4) Only conclusion (II) follows |
— 2 & R (5)  Not attempteq
T ¥ e 3 fo1e 211/ SPACE FOR ROUGH |
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32. 9 fooeq &1 997 ¢ S fiW 1€ ¥ 36 YR Gafug

32.

Choose the option which is related to the third
term in the same way as the second term is

%aﬁquﬁwawﬁl related to the first.
m:qﬁﬁm::%:_?_' Mosquito : Malaria: : Rat: __?
n (1] Rabies
(2) TREES (2) Typhoid
(3 AT (3) Plague
@ <1 (4) Dengue
(5) SWTE ¢ TR (5) Notattempted
33. fouq o1 w99 Sifsu) 33. Find the odd one out.
(1) T (1) Sparrow
(2) A (2) Parrot
@) FER (3) Pigeon
P 4) Kiwi
O w— (5) Not attempted
5, AT L] e o, B the somtasrion oF
T =Rl & 39 AN &5 = FL s ITTER numbers so that the letters arranged
e F) STafed T W ﬂéi“f‘x’lﬁaefl - acmrdmgy form a meaningful word.
L N S A I G | vl b AT RRATI TR
1 2 & .8 58 1 2 & % 8 B
(1) 3,5,4,2,6,1 | () 354,261
@2r 2,6,3,1,4,5 2 2,6,3,1,4,5
3) 5,4,2,1,6,3 @) 5,4,2,1,6,3
@ 356,241 @ 3,56,2,4,1
(5) S < TR (5) " Not attempted
3. afg T Fifvad F2u § MUSSOORIE’ F | 35 Ifin a certain code language MUSSOORIE js
‘OTURQNTHG’ fer@n < &, ot <&t Feur q written as ‘OTURQNTHG’, then how will
DELHI %1 #11 feral e ? ‘DELHI’ be written in that code ?
(1) FCNFK (4 BCHER
(2) FCNGJ (2) FCNGJ
{3) FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK .
(5) IR AE & =ed (5) Notattempted
HANTV/ F2 2% ®1d & fere 22 | SPACE FOR ROUGH WORK g




36. ﬁﬁﬁwﬁwmmmwmal

A*BH T ‘B AmwE 2
ASBHRISE ‘A BFr gelt 21
A#BH AR ‘B AT

qﬁ‘P$Q*R#Sr%a=ﬂ%mwaﬂqmm
A ®?

-

36. Read the following information to answe the

question below :
A * B means ‘B is the brother of A’

A $ B means ‘A is the wife of B’.

A # B means ‘B is the son of A’.
IfP$Q*R#S then, which of the fcmiln-.r\-inB
statements is true ?

: Callontv.cC
e —

(1) R, Q%fymg (1) Ris the father of Q
@ S, QF R (2) S is the nephew of Q
@) S,PHEERI (3) S isthe son of P
(4} R, PHUEEI @4) Ris the father-in-law of P
(5) SWTE IR (5) Not attempted
. W 1 ﬁﬁqqﬁ _2 S 37. Find the missing term __?  in the series,
1 1 1
195,255, F . 5 o oo 1 1 1
a4 5’ 25’ 125 125, 25,8, _2 , 1 520 Tos
2) -2 1) 1
B3 2 2 -2
4 =1 3) 2
38. HfEI24 m =T # 3T TeR F 9% ST I qeH (5)  Not attempted
24 m Fewdt g 98 379 a1 et & 3R 16 .
x-:;?ﬁ > %m e it Wgﬂfﬂ ot & 38. Sarita walks 24 m towards West, then turns
= 1S5 16 SRS I, FRe. 25 m ! to her right and walks 24 m and then turnsto
At 31a 31 SR foig W fehereit X e fofr feum her left and walks 16 m. Again she turnsto
He? : her left and walks 24 m. How far and in which
(1) 40 m, 3R direction is Sarita from her starting point ?
g (1) 40 m, North
My A, 2)  40m, West
) - odm, o () 32m, North .
(4) 48m, WR=H (4)  48m, West
(5) S TE & wed _ (5)  Not attempted
39. TEfHP, QR S, THRUSHAMEFFG | . Ny
i m &, o T T RS AR | O j‘fﬁ;ﬁ;;rqfao, RS, Tand U arestandog’
a o3 03 Sv in
P, T % a1g iR R % T %J Q', T % I AHA same order. P’ is toutigzz;ﬁefrﬁagg to the
cssa;ani'%afﬂfsi, Us%'ﬂﬂ@"i%l ‘Q’ ﬂ»?qﬁ'ﬂﬁ nghtl)‘f‘,R’ ‘Q.’is Onthe.ﬁghtof'l"butwmﬂ
FAE? left of ‘S’ who is to the left of U?, Who are
' neighbours of /@’ ?
() TS (1) Tand$S
(2) RH#RR (2 PandR
@ T#RU 3 Tandyu
(4) P@RT 4 PandT
(5) T TE & =R (5)  Not attempteq
HANTY / F2 3% @7 % 1670 2217 / SPACE FOR ROUGH WORK Sage "
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40. oty @7 S et WER ¥ WY AR W R

41.

42.

St Y e fa WE B e WA § | T

¥ e & fodi TR ?
(1) 22

@ 15

B 23

(4) 21

(5) SRl & =ed
(0.5xo.5+o.5+5)aw%:
(1) 0.35

(2) 045

(3} 0.15
4 025

(5) ST & W

Fm el 2 p, 5 paA 7 pH LCM. §:
(1) 75p

@ 70p3

3) 70p

4) 65p

(5) SR o =

Ui s
g T 3%% s W A 2§aﬁ$|mw
AT 21077

W 22,800
(2) 2,500
3) 1,580
4) %2,400
(5) TRl & AR

oz o 3o b &1 For qoiies &, 7 Fret & § BA-w Ter
g7
(1)

a+0=0+a=a

40,

41.

42.

43.

44,

Priyanka’s birthday falls on the third Friday
of a month. The fourth day of that month is.
the first Monday of the month. What is the
date of Priyanka’s birthday ?

(1) 22nd
(2) 15th
(3) 23
4) 21st
(5) Not attempted

(0.5%0.5+0.5+5) isequal to:

(1) 0.35
2) 0.45
(3) 0.15
4 0.25
(5) Notattempted

' The L.C.M. of three numbers 2 p, 5pand 7 p

1S :

(1) 75p

(2) 70p3

3 70p

(4) 65p

(5) Notattempted

For which sum, the simple interest at the rate

3 ' 1
of BZ%perannumwﬂlbe?Qlom 25 years ?

(1) ¥2,800
(2) ¥2,500
(3) ¥1,580
(4) 2,400
(5) Not attempted

If a and b are two distinct integers, then which
of the following is incorrect ?

(1) a+0=0+a=a

(2) a-0=a#0-a (20 a-0=a#0-a
(3) a+b=h+a (3) at+b=b+ta
4) a—b=b-a (4) a-b=b-a
(5) TG Al H1ed (5) Not attempted
HANTV/ F2 ~ o % Ter0 a1 | SPACE FOR ROUGH WORK e
Kbt R 1]
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45, T e -
; b QA Wﬁwmﬁmﬁa e mar fis | 45 A certain number is dilvi(lcd into twy o
. T % 5 W'ﬂﬁ{ﬂ’t T & 11 ¥ ey such that 5 times the first part acde lo IH
e & 7 T T gy | I 1 W times the second part makes 7 timey | I
Wm% g TR W EQ §Fﬂ‘ | number. The ratio of the first pary to ”:pl
i ' 1 part is : .
(1) 1: ) second
' 142
@ 2. 0
} ; , ? 2 2:3
@ s5:11 :i; ;’:]
5 N
3 ST T (5) Not attempted
“.@” T 3R iﬂﬁ U F 65% F T %1 | 46. Half of a certain number is equal to 659, of
! & 1 g e U R the second number. The ratio of the firs,
(1) 13:8 number to the second number is :
2 13:10 (1) 13:8
8) 10:13 2) 13:10
M 813 (3 10:13
(5) SR < = 4 8:13
(5) Not attempted
47. 10 mx 10 mx 5 m fomei are w5t 3 et o gy
STeil Tt § s Ega-ﬂ NEIS 2. 47. The length of the longest rod that can be placeq
in a room of dimensions 10 mX 10 mX5mis:
v, F ik (1) 1042
m
{2’1 5\6 m
@ 5/3m
B) 15/3m
4) 15m B) 153 m
(5) SR TE < A (4 15m
(5) Not attempted
48. fwa 98l §, T 800 i TART 10% sftieh wohggfe = |
H WY, T926.10 B ST Sl <A 9l TS 8. I‘;:‘:W many years will a sum of ¥ 800 at 10%
YA e e ? per annum compound interest, compounded
' semi-annually become ¥ 926,10 ?
; I g
(1) 2-3—315? (1) 2'37 years
1 1
@ 2™ @) 2 years
1 1
@ 13 v (3) 1'5 years
1
= 1
4 13 ad @ 13 years
(5) T T ) Notattempted
T
HANTV/F2 <% I o fe1e T | SPACE FOR ROUGH WORK page 2




$ ¥ fagw W 7o e we) 49. 20 litres of o mixture containg milk and water
4. 90 ik 4 .ﬁm "ﬂ;jﬁ ¥ A fopam F‘tl G;HII e ’ in the ratio 3 ¢ 1. The amount. of milk to be
S 3 ¢ 1 ¥ 5@ A LR LAY BIEN WY, ndded o the mixture no as to make the ratio
fo AT OTII 4 ¢ 1 SN ? ' 1:1,i8:
2 O litre
() 6 .
(3) 7 litres
B TR 4) 4 litres
(4) 4FH (5)  Not attempted
(5) W & e
; 0.2 + 0.01
go. Stptifcation ol St o ives
0.2 )<'0.2+0.01 aﬁwwmwm. , 0¢1><0.] + -J
0. ) en He
1x0.1+0.02
0.1% ' _‘_f'l
a1 1 =
w3
9
9 B 3
2 3
- 5
5 @ 3
@ 3
@) 41
41 19
@ 12 i
(5) Not attempted
(5) TR TE & A
4
51. If the selling price of an article is % times its
51. afz frd g w1 fasra e 39 a TTd B . T -
' T = 3 cost price, then the profit % in the transaction
2, T R ey i ® is :
1 2519
(1) 25-2-% (1) 2
Lo, 331y
(2) 335"/0 (2) 3 o
2
(3) 16%% (3) 16-5%
1 1,
[4) 205"‘/0 (4) 20-2' o
(5) e e = =wed (5) Notattempted
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il : 3
52. ATH & & gl 10ﬁ:=rﬂmm%, B 3Ht 52. Acandoi—ofaworkm IOdays,Bcantlw
T T 40% 9T Y F 20 foe v EEico
e ¥ s 2 00 da sandCcandol{,,
1 .’ of the work 1n 2 \ 3 Y
FHEH = 13 RV R wwmE | A w sw I
3 work in 13 days. Who can complete the ),
R FE v FH WA H B g ¥ work in minimum time ?
(1) ¢ '
_ (1) €
2y Adgces (2) - Aand C both
:j; . @ A
(4 B
(5) IV =R (5) Not attempted
53. 37fg (a+b) : (b+c) : (c+a)=6;:7:8 HEITI 53. If (a+b) : (b+c) :I(c+a)=6 :7:8a
at+b+c=14% Mc?: a+b+c=14, thencis:
(1) 8 (1 8
2 14 « @) 14
g j @ 6
4 7
(5) ST A e (5) Not attempted
54. A, BAUC fao T AR A T 50,000%mrl§ 54. A, B and C together invested ¥ 50,000 i
T AT B WX 4,000 Sk FCAANB A C H business. A invested ¥ 4,000 more than
% 5,000 3 M, & T 35,000 F F AW H and B invested ¥ 5,000 more than C. Outo
AH IR : total profit of ¥ 35,000, A received :
A 213,600 (1) 13,600
(2) ¥14,700 @ 14,700
(3) 8,400 (3) 8,400
(4) ¥11,900 (4) 11,900
(5) 3 | | GE (5)  Not attempteq
55. TH FK 1;@‘5 ¥ 20 Wiex ot ¢ foRr/Her A | s, ;le:l/gﬁe;?{) metres in a second. Its SP
TEH M © - ¢
1) 36 (;J 36
@ 20 () 20
w72 . 4 72
(5) I e N wed (5)  Not attempteq
\\___—/
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56.

Choose the alternative which best expresses

the given sentence in Active Voice.
rds will be sent today.

The invitation ca
1,14)/1 They will be sending the invitation

2) They will send the ipvitation cards
today.

(3)  They will sent the invitation cards today.

4) They will have sent the invitation cards
today.

(5) Not attempted

Choose the most appropriate alternative to fill

in the blank. e

The noise comes from the river.

(1) over

@y across

3) against

(4) besides

(5 Not attempted

Find out the correct indirect speech of the

following sentence. S
He said, “Do you know German 2

61. Pick out the synonym of the underlined word

in the following sentence.

The cellphone industry has ushered a new
phase of communication.

(1) heralded

(2) _collapsed
3y completed

(4) given up :

(5) Not attempted

62. Fill in the blank with the appropriate option

given below. '

If you no confidence in self, you
are twice defeated in life.

&) have

(2) having

~ (3) -has
(4) hadnot
(5) Not attempted

63. Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

1) He asked me if I knew German.
{2]) I asked him if he knew German. caught red handed.
3y He asked me to know German. (1) Caught very late
(4) He asked me if he knew German. 2y Caught while doing the crime
(5) Not attempted ' (3) Caught sleeping
] (4) Caught easily
9. Find out the part of the sentence which has (5) Not attempted
an error. ' :
If he is a millionaire, he would help 64. Pick out the correctly spelt word.
(@) (b)- : i (I minipulation .
the Millennium Project in the future, . (2) ~manipeulation
© @ (3) manipulation
1 (0 (4) menipulation
2 (@ (5) Not attempted
@) (@ - o -
(?, (b) 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
80. Find out the antonym of ‘absurd’. temple.
(1) sane (1) along
2 refuse 2y in
‘(31 silly (3) on
#) anxious (4) Dbesides
HR&:{E] Not attempted i (5) Not attempted
TV/F2 <% B & fe Zere / SPACE FOR ROUGH WORK Page 15



Y

- M2 T e 3 o o 1 v e | 71, ﬁﬂfﬁ;ﬁwﬁﬁﬂﬂiﬁﬁmﬂ?ﬁ%{
(1) Tt W 3; v mafie o o g; -
() T ¥ I
@) e, A 2 i:f ;1:’*
4 - T == l
(5) ﬁgaﬁ@W%’ (5) TR TE & A
67. '3 Fvar ¥ A e ¥ e & Yo siw 3 | 2 Sreft QT PRl U ihifeR o 3 3
fere waifers swpe v ¥ () % foeg T
A o (oy e Rl WeH
() forvamecrt (3) I SR AR e e
@) . TovemEr (4) 1 <hRor 2R, 7 S g
@ TR 6) TR
(5) SWTE MR
- 78, feum e v A e e @2
68. ‘I e o fadw & vl ' _ Oy FEES
S ¥ itena VI 3 forg it soee et 0
i @ iy
e 4) o
(2 == o B
3y az_sf (5) T < =
e 74,
5 SRR e ek 1 5. g
69. ‘=T ¥ S I qERAT’ JEER SR A9 ¢ : :;’ SR e
1) wRfAwgE @; I s
@) zalt g o i @ SR R O
(3)  Hfe UCAH AT 4 = af
(g o e =T T () 3T ¥ wmy
5) A o ed _
(5) | | 75. ?wﬁq_mﬁmmwgﬁw
70. e} w3 1 AT S HY-fae € .
(1) T+ (1) q@qﬁaw
2 "y + Y ) qﬁﬁl%mﬁﬂi
(3) T + W (3) mmm%
@) u+ T B
(5) I oAl = (5) T 219y
HANTV /F2 !ﬂiﬂﬂé%ﬁm Z21e / SPACE FOW-’@




famn & wer Ta S TiE’ e & s

76.
aﬁq@ﬁaﬂwﬁﬁaﬁnﬁfﬁwﬁamw%?
(1 5,300
(2) 4,200
@ 6,500
4) 6,000
(5) SR T & e

. Wm@aw%ﬁuﬁﬁmﬁaﬁmmﬁ
w R STl -

(a) T A, Writa F Rew @

b T AL q TS &
S # & wH-E/A T /T2
(1) (@3pIFA

@ :ﬁl’t (a) 3R AE (b)

13} aﬁ?."f[a)

“(4) Ea(b)

(5) SRR S =ed

/8. sﬁamaﬁmﬁmmﬁmmﬁwmw
T foma gfaee € 2
(1) 50%

Q) 45%
(3) 65%
@) 55%
(5) I G S =
79. gfao @ik 9Ra %1 faerd 37 % fae yfes Saara

e fra e A feaa €2
faart

76.

77.

78.

79.

)

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
(4) 6,000
Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)
'(3) (a)only

(4) (b)only

"(5) Not attempted

What is the approximate percentage of rural
population of the total population of

Haryana ?

(1) 50%
@ 45%

3) 65%

(4 55%

(5) Not attempted

Bhainswal Kalan, famous for giving sportsmen
to Haryana and to India is situated in which

district ?

o
o i (1) Bhiwani
- (2) Sonipat
o (3) Rohtak
(4) Karnal
(5) o T = (5) Not attempted
Page 17
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o ;
f the following places i ;
r i

80. ﬁ'ﬂlﬁ[ﬁaﬁ
L
ﬁgﬁ[ﬁ__ﬁf aﬁq-m
=i} % frg s EUSAY W S
g Yo ST &2 | 80 }:ﬁl} o o
' MIREI 1 omen H
By wRER () Panchkula ockey players ?
(4) 2 Shahbad
5 (3 Faridabad
81. frfefaa Fordi (5) Notattempted |
w® R ‘
(a) TRt A aﬁﬁqql 81, Consider & -
(b) m < iﬂl@_’t o | %1 (a) Masa_‘:i iouowmg statements
S A e it & (b arrage is in R >
3 ,'ﬁﬁﬁ?{.@ fem 71 . B Kaushalya Dam is i ewari dist
ol Al Which of-the e
. 5 5
(2 ¥4 (a) ;ﬁ)h T@ (1) Bo’ih i ement/s is;
an
' (3) e (a) (b) @) Neither (@ ‘:1 SZ-J
(4) FHad (b) g) (a) only (b)
G ST | (5; 1(?0111}' '
g2. fred AFH- AT ot attempted
ax IEI{. gt mﬁ%‘\qﬂﬁ%; . ghichofthefou :
¢ a'tya'na ? owing isnotad
,(?'r a5 @‘F{Eﬂ d (1) Loor ance forn
(3) e (@ Khoria
(:J i ' :i; galghadi
83. Eﬁq.ru." m ; : ot atte mpted
Gk Tf g &1 7 83. In whi
A1) i
1971 fled year
@ 1 s N
963 (1] ate P a was m
(3) 1962 1 i 1971 ade as af
4] 1960 ' :3: 1963
(5) W el o =red @ 1962
g4, el ¥ e fa ' ) ;rif(i
at
(1) 92 m_ﬂ‘“ fraf=r e 84, n tempted
(3} 88 ere in H ar;dhan Sabh
5 = g) 2 wna e a Constituenci®
(5) W =& 2 T (3: %4
HANTV/F . % 88
2 2 1l & Te10 2T :5: io
, o
pag’




B7.

@mwgmmﬁw?ﬁaﬁﬁﬂﬂ
q?

(1) Hral ¥HQ

@ TR

3) dt.4f. &

(4) ‘EH.%‘LﬁTﬂT

(5) W’Iﬁ'&mm
ﬁqmmaﬁaﬁwaﬁqmﬁwﬁaﬁ%mﬁ
T E?

(1) ‘qﬁﬂ?ﬂ“ﬂ'ﬁ'ﬁ.

() Ty ol

(3) e

(4 foree yomedt

(5) SO o =ed

prenfisfia 3 4 e 1 i o v 3
T ¥ e T W R g 2 - |
(1) Teur |

@ fa=n

(@

@ TR .

(5) SO TE o =R

: mwwmﬂ?m%?

W |

(2) =™

3y e fecor

@) TR

(5) <AL T =

85.

86.

87.

88,

Who amongst the following former UPSC
members was an IAS Officer of Haryana

Cadre ?

(1) Mata Prashad
(2)
3)
(4)
(5)

Subir Dutta
P.C. Hota
S8.K. Mishra

Not attempted

Which amongst the following is not a canal
network system of Haryana ?

The Yamuna system

(1)

(2) The Indus system
(3) The Bhakra system
(4) The Lift system

(5) Not attempted

Which one of the following districts of Haryana
shares border both with Punjab and

Rajasthan ?

(1) Hissar

(2) Sirsa

t3) Kaithal

4) Jind:

(?) Not attempted

The State Animal of Haryana is :

(1) Camiel

(2) Tiger

(3) Black buck
(4) Elephant

(5) Not attempted

HANTV / F2
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amongst the following is not 5

89. frwifeied & ¥ - whamm = . h
e oy 1 1 IR S = | 89- ga};;:an a’s traditional attire ?
AD- T (1) Daaman
2 < [2) “hored
@) v (@) Pagri
' der
4 . (4) Chun
¥l e (5) Not attempted
(5) I T ¥ =
90, Where is Bir Shikargarh Wildlife San
90. R RIHRTE Trfta anvamvy wef srafie 7 located ?
(1) Egen (1) Panchkula
(2) T (2) Karnal
(3) (3) Kaithal
@ ~i= (4) Jind
(5) S IR (5) Not attempted
91. ‘=ifd 5%’ fodar 91. What is the one-time cash amount give
nﬁﬁ&wﬂg%? ! for T 7 o the “Kirti Chakra” awardee ?
Oy ¥75,00,000 (1) ¥75,00,000
(2) %25,00,000 2) ¥25,00,000
(3) ¥51,00,000 (3) ¥51,00,000
(4) ¥1,00,00,001 4) ¥1,00,00,001
(5) SR o =R . (5) Not attempted
92. o=/ ¥ #Wﬂai‘mﬂ g? 92. Where is Chinkara b_reeding centre locat
AR, e (1) Morni, Panchkula
() &, fart ) Kairu, Bhiwani
@) Tuget, e (3)  Pipli, Kurukshetra
5) SR 1 = () Notattempteq
. ; ¥ =T _ ‘7 93. Wh L -
iy pemel U Blgrang
1wani
(2) EI.SI et @ Karna
(3) T () Panchkylg
(4) T () Rohtax
(5) W T < e () Not attem
20 T o [eTC T2ITeT / SPACE w—/



4. T % Q) GaQ Hea gl TR teeiRgag AReE'’ | 94. Two most important
H R ﬂ:q?[ _g_ 4 “The LAT and the l?:’:\:rn‘fnts of the State
! located at which place ? Y30 Mosque are
(1) T (1) Kurukshetra
@ ARTER (2) Naurangabad
(8) THRER (3) Fatehabad
(@ TS (4) Mahendragarh
(5) T =R (5) Notattempted
5. o9 e TeE M @ TE M TS | 95, Identify the place where Guru Gobind Singh
e & e 7 ¥ g 52 fel qHEH A2 stayed for 52 days after the battle with Hill
Kings ?
(1) s e
(1) Dhamtana Sahib
2)  ToENI GEH Al
@ (2) Gurudwara Lakhan Majra
(3) TR STl Hred
: (3) Gurudwara Kapal Mochan
4) RGN THEH! Wifed -
& (4) Gurudwara Damdama Sahib
TN e
o) T _ (5) Not attempted
96. THT = waw g Frefafad # & frue s gem
o2 - . 906. The Third Battle of Panipat took place
: ! ; between :
Ay e S AR AT W " (1) Shah Alam and Muhammad Shah
() T TR fife SR SRS (2) Guru Gobind Singh and Aurangzeb
(3) e SR SRS (3) Nadar Shah and Aurangzeb
(4) STEFR Ve STeaml e.ih RERE]] (4) - Ahmad Shah Abdali and the Marathas
(5) SR TE & =R (5) Not attempted
i 7] .
97. ﬁmmmﬁimﬁ? .ﬁﬁl o 91 HISHET | 97, Which day of every month is celebrated as
o § i FE A I AW ? “Tithi Bhojan Beti Ka Janmadin School me
5 Abhi .
a f bhinandan” ?
. 1 d
2 e (1) 3' Tuesday
. (2) 4th Tuesday
(3) HEd WIEER
z (3) 1%t Tuesday
(4) TEUHTEER
(4) 2nd Tuesday
(5) IO E & =
(5) Not attempted
. HANTV / F2 T & & féTE wener / SPACE FOR ROUGH WORK Page 21




98.

99.

100.

HRA 1 gafaRer Ry, 2022 ¥ SHUR gaq R

& (TWERT-2030) wife s ¥ s wg #1
HIH-| T 2

(1) @=an
(2) swEEl

(3) Teem

(4 dEw

(5) ST FEl &1 =m®d

RN T Y T T e - faver YR F AR H
Frafafes FuHl | fa=R Fifw)

(@) 21 o 3 R sifir sy w1 wfeen 9H T

TEH 1,800 Wfa HrE sy fazn s 7

(b)

ST A W BT/ F W@ Y/
(1)- (a) ¥R (b) I

2) T (a) IRTH (b)

@} e (a)

(4) had (b)

(5) S & =

T T e S (e ) Fan i Frefatad
el W famR i |

(a) i =57 it TE. S FHeh EACIR R
3 siferr B

(b) q@wmﬁ.@.—eﬁ.ﬁ. gfamon & Sit.eE. g
g e B

mﬁaﬂﬁﬂaﬁﬂ—m/@ FoA W B/8?

1) (a) 3OS

2) A4 () sk # (D)

@) e (a)

@y ad (b)

(5) IR e

.o0Do0-

99.

100.

wasrzfasﬁuzenafsmcsm

HANTV / F2

:o's Environment

As Perf:ethch?;nEl:{ of Haryar?:pgré:}
w(g]ai:ving Sustainable Developmen, h
?506-2030)

(1] 6th

(2] 8th

(3] 1s.t

@ 3¢

Not attempted

i e following statements g
\%?éﬁirdgntsl‘ilon Scheme - a State Schey,
the Government of Haryana.

A woman of age 21 years and aby
eligible.
() It carries an allowance of ¥ 1,800p

Which of the above statement/s is,

(a)

correct ?
Both (a) and (b)

(1)

(2) Neither (a) nor (b)
(3) (a)only

(4) (b)only

(5) Not attempted

Consider the following statements about

State Domestic Product (GSDP).

() GSDP of Haryana is more than th
Karnataka.

(b) GSDP of Maharashtra is more tha"

of Haryana.

Which of the above statement/s !
correct ?

(1) Both (a) and (b)

(2)  Neither (a) nor (b)

(3) (a) only

(4)  (b)only

(5) Not attempted
~00o0-
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